PZyImOT OB ILTd
MB5545 - Assembly Instructions Large Access Panel for Jeep Cowl

MB5545 - LARGE ACCESS PANEL FOR JEEP COWL

UNIVERSAL APPLICATIONS

ASSEMBLY INSTRUCTIONS

motobilt.com | 334-219-2333



P gimOTOBILTd
MB5545 - Shipping Large Access Panel for Jeep Cowl

CONTENTS

°

s

#10-24 x .5" Button Head Screw
Qty 10

#10-24 x .75" Button Head Screw
Qty 10

=
s

#10 Flat Washer
Qty 10

MB5545-03
Qty 1

#10-24 Nylon Insert Locknut
Qty 10

motobilt.com | 334-219-2333



MO TOEBILY,

=
(—]
(1)
| —]
(-1
(")
—_—
P ]
(—)
[ ]
(")
| —
(]
(-
(7,
(7]
(-1
&
(L)
=X
(")
t— )
=]
(-]
el
(/]
| —
=
[
()
—
[ =
-
(/]
=
i
f—]
[ —
(-]
(7,
(/)
[ —
1
)
=
1)
i£9
a
——

s
[1%95e¢

ARRRIRIILRRLRK
RIS
B IR
B R R K IR L KK LR LRREK
[rSatototetesetatatotoresetetotol

XK %
Vs SRR
P osnsstotesatotesetotoretatoretatores
esrsesatotetesetatetototosetetotes
RIS
RIS
o tat ot totesetotesesatoretatoresetes

Sasasstoresetetotetetosetasorotetesetotet
S RRIRREILRELLRKKL
ioSosessatetototosetetotorosetetetotorotetetot
AR RRRIIIIRRAIEIRKKS
R IRIIIRHIIKKS
A RRRRIRKELREILIRIERK:
Tososaesetstetotetesetototoretetototess
SR
0%00000000000000“““0»
SRR

OSSR RSIERKEIIKEEIS

ORISR
R IREEIRKELIKIIKKES
S R RIIIREIIRIIIRKK
O e ot tatatotote et totote e seatorosetetototoresetatototetesss
R SRR

s XSGR ““NNOQ
X X IREAKEERRELL LKL
RIS

RRRRR

oS otetesetotetetotetototetetotetetetoteteted
RIS
oo Sote o tet et otetesetoteset 293
o g o et atosesatoretotoretetel
KREERIKIKIEL R IR KIS RIK IR KIERIKRK ALK
ot e o e ot e ot e ot tetooatoteoatotetetotosetet
SRR KLLELLKN
S iio
AR IRERRREIKIE LI IRRIIERX K SREIISEEIER LSRN
SR
e SRS SIRIISIAIN
SOt a e t0 oo tatosatotores S RN
KRR R EIEERERKSRIIEIREIILEKL XK EEREKEN
B A ISR
e S SIS
ISR KIGERD
o)
e e RSN
RERRRRILRRK: oSotootetetotetororeses
RS
S

0%

2% %

K IRIKEK IR RIRK KKK KX
R,

o%
R
bo%s
255
o%
XX

%
55

25
o9
5%

0%

o

5

o

¢

%

3

S

6%

S

¢

S

S5
Saeratorets

%%

35

S
o2059%
5
SR

%

¢

S

%

%
%
o

%
%
%
29

o%
93

o0e%%
o%

XX
5

<
dsa%0%es
DOI9090%s

%
XX
<%

%
%
5
5

XX
Sototeses
06%262%%%
2L

K
Dessteseseses

CRIIRKKS

29598

<K

%%

ofoss

ofoted

293

%

SRR
st
ototototetotetets
SERRRRIRLRLLL
SRRK

o9

ba%ed
ofo%s
RS
ofols
ools

00000
026%0%.%.%%
Bos0ssese%s
XX
<

25
%%
RS
K
XXX
o2
bo%}
otols

00598
0
KK
K
XX

900

R
o
<5
<5
2%
XX
9%

o%
o%

R IIIIIKK
0000020 2020 %0000 00 0000 00 00 00 00 %0 0% 2% %
0% te %% KGR ERSIEISEIIE KA
R RIIRRRRIRRILLLRKS
e sasstotesesetototetesetatototesetetototototetosotoses
R So%at0sotetetesetels RSIIRLELIK
Sesstoseses SSIRSIIICRKS
etssotetess oros st ototetesetetototel
REERRLEIIS SERRIRRRRRK
RRSIREKES Desasesatatetete?
NEEKEK KKK 0002000 %0 %6 %% % %%
otesesetosetoteses Sesasetatatetotetete!
RREIREKRERLKKL 0002000208620 %6 %%
R osesssatosetets SR
N e%esesatototess SRR
X KB
oosersteteteles
%

X
o
o
s
S
%%
K5
2%

GRHRRRN

XL
CSEI

o%
SRR
X XK KKK
8
55
$%5%

QRS

XX
XRKRKK
00 %0 00000 %
ARSI R K KKKXKX X
RS

o%
XX

RIS

9%
SEEK:

S
<
55

2R

%

%
XL
%5
QS

9000
90008

<2
R

XX
5
000%%%
R85
SIS

%
o
EIELIELIEKK,
R atetosatotesetatotes
RIS
%% X%
R ose ot et e tosateretoretotetss

S
3
K
RIS
aorstetesetetotetesetetotel
29583 RS
%“»%0000%00000““0“000“0
Sy
R

555
Sa%0ss
35
%5
o%

%
“NQNQ K SRREEICREKEIK
RIS
R0 e e 0 0o 0 0 0% 00 % %%
RIS
RIS
%0

SRR

o%

5

d0%s
KRR

%2
RS
R
QRS
R

3
S

00020000220 %% 20 %% %
RIS
RS
RRSK
X
REX
K

XRELEEKKL
R
s

SStatoteses
aw“%%%%%%%%

X
o%

o%%%
LRI
30
KL

CRISKS
ORSIRRKKS SeSoososes 0959
R KRR
%5 Sosoteresesesetotoresetesetototes
RRLRKS RIS
ot a ot tatoresetotesatotesetotesesotesatol X
SRR
RIS
RRRIRK:
LK o
Sososstotesetetetotetetetetesorotetesste
Soosotesetatototesetesoses
RRRRRKE
< RERKIXLKS
KRSRLEIIKRKRILS
o eoteretatetetatotesetoretatel
O RIRIRRIIKS
Sasosstetesesetetotoretetutoleresesesetotes
O e otesa ot totesatoresssotetet
SRR
S RIRIELRIRKLRERK
RIS
IR
SRR
oo st e tatoretatotesstoretatoresatoretelel

MB5545-01

SRRRRRRLLEN
S

X XA

oo
Sototetel
%%
ERRXR

SRS

o
oSN

2
S0REKKEN
QRESEIEIS

<X

Satosesetoteces

GRS
<5

KK
IRRA

S RRRRRLREL,

oSe%%
KK
126%6%%%

o%
0
oo et etoseseteles

RRKRRL

RIS
R IREEIRKS

OOOOQQOQQOOOOQQU
R
I
IR
R RRLXIARK]

%
09595

SIS
RS
032005 %
Sosotetesetes
RS
ofatetetetet
Sososeseses

%
%
0%
o208
%

XX
o

%

5555
So%e%
2L

%
s

LS
&

USING MB5545-01 AS A
TEMPLATE TRANSFER THE
INSIDE EDGE AND HOLES TO

YOUR COWL AND REMOVE.

motobilt.com | 334-219-2333




P gimOTOBILTd
MB5545 - Assembly Instructions Large Access Panel for Jeep Cowl

MB5545-01

MB5545-02

MB5545-01

motobilt.com | 334-219-2333



P gimOTOBILTd
MB5545 - Assembly Instructions Large Access Panel for Jeen Cowl

#10-24 x .5" Button Head Screw

\i\\i\\ \\;\
NN

.

motobilt.com | 334-219-2333



